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dU 15 nis takeoff speed and hie nang

5 o the peak and then return to the ground

le velocity of 521 m/s. While accelerating through the barrel of

1 | of 0.840 m Determine the acceleration of the bullet (assuming
a uniform acceleration). 2 J

(a) 1.62 x 10° m/s (b)3.0 x 10° m/s (C) 4.4 x 10° m/s (d) 3.;

118) A baseball is Propped straight up into the air and has a hang-time of 6,2¢
to which the ball rises before

It reaches its peak. (note: the time to rise to the peak is one-half the
total hang-time).

@) 1193 m (b)3202m  (C)430m (d) 48 m

(19) The observation desk of tal| skyscraper is 370 m above the street. Determine

the time required
for a penny to free fal| from the deck to the street below.

(@) 8.235 (b)9.935 (C)8.69 s (d) 7.2 s

(20) A bullet is moving at a speed of 367 m/s when it embeds into a lump of moist clay. The bullet

penetrates for a distance of 0.0621 m. Determine the acceleration of the bullet while moving into
the clay. (Assume a uniform acceleration).

(@ 1.08x10°m/s* (b) 2.08 x 10° m/s* (C) 4.08 x 10° m/s” (d) 2.28 x 10° m/s’

(21) A stone is dropped into a deep well and is heard to hit the water 3.41 s after being dropped.
Determine the depth of the well.

(a)- 65m (b) 55.0m (C) -473m (d)42m

(22) It was once recorded that a Jaguar left skid marks that were 290 m in length. Assuming that the
Jaguar skidded to a stop with constant acceleration of -3,.90 m/s? determine the spec iy

d of the Jaguar
before it began to skid. &

(a) 40.1m/s (b) 30,7. m/s (C) 56.3 m/s (d) 47.6 m/s

'. | ﬁ o (23) A plane has a takeoff speed of 88 m/s and requires 1365 m to

. N réach that speed. vetermine the
- acceleration of the plane and the time required to reach this speed.

{a) 25‘6 m/s’ ,30.8 s-'-__(__.b.) 3.86 m/s*,30.8s C) 486 m/s* 36.8« (d) 28.6 m/s’ 108 «

i

.'.'i i 4

k LY T
R g e A
N i T A :
‘..‘l.-.rI.'t.._q._H-_ ]
AL TR .
sl e i e L o _

e
-3 L
. i

i PR

s

RS-y
& '_'.\ '?lllﬂ'

.1'."'-. ¥ L e it il

I -'l"' ¥ N T III'-"-" i L = 1
1 2 L - o il Vi . e .
oo P o ..:':: _'\h-'-"l"‘_..- oy = 14 b "
R = s | iy o B -

v e sl ¥ L - e gy e e e A E
E, ok JI- g Ly e e i ot i :
e 4 e SR e e T ;

AL ﬁ:'ﬂb‘.ﬁ._g&;_:i_:_-_'__ P e ’

F e e APy e :
; 4



(1) Nne I 1L | BARAL 2% | o YOI X\ ! L\ V - ! iy B .

(4) 1NHeE A artesian coordinati L RPOINT XYy i“*”“ 8 are (x,v) = (3.50m, 7 Om), FInd the polas
coordinates of the point
. . ' = € 20 « BB l“ 9 = e el . - ) |
(a) R<0=530<855" D)R<B=230<255" (C)R<O=4.30<355" (d)R<O=3,30«488°

(2) The branch of classical mechanics whish describes the motian of points. bodies (ablects) and
systems Of hodles ([f‘}{“t:}l.i[_] ol (._}l'}lt‘l l‘x) WITHOUT | onsideration of the cavses o motion
(a) Heat (b) Light (C) kKinematics (c) relativity

(3) The average velocity of an object I5 defined as the displacement of an abject divided by the

total time
(a) True (b) false (¢) none of the abave (d) all of the above
(4) If @ car IS ll‘fl\/t’f‘“ll’lﬂ at @ h|JUt'*t| O] ,).f'_":_[]lll/*a, 15 the drive exceoding Lh ‘_.“{wrltl Hmit of
55miles/hout
(a) No, 52.6mi/h (b) Yes ,62.6mi/h (€) Ys, 2l Bmi/h (d) Yes, 70mli/k
(5) The traffic light turns green and the driver of a high performing car slams the accelerator Lo

the floor. The accelerometer registers 2 .hl_nn/-';". Convert this reading to km/min’
(a) 50.2km/min’ (b) 60.1km/min” (c) as (d) 20km/min’,

(6) An alirplane accelerated down a runway al 1,20m/s” for 32.8a until Its finally lifts off the
ground. Determine the distance travelled before takeoff,
(a) 1730 m (b) L 740 m (C) 1/50m (1) 1720 1

(7) A car starts from rest and accelerates unlformly aver a time of 5,21 seconds for a distance of
110m, Determine the acceleration of the car,
(a) 8.10 m/s° (b) 8.20 m/s®  (C) 9.10 m/s” (d) 2.10 m/s’

(8) Charles is riding the Glant Drop at America, | Charles free falls for 2.6 501 ands, what will his

final velocity and how far will he fall.

| __ | i
(@) -33.3m,-26m/s (b) -33.1m,-2,2.2 m/s (C) =31.3 m, -£06 M/5 (d) -43.3 m, =26 .1m/s
. ? : : | | 3 : . ' ’ 3 1 L L : .._1 {]ti 1'1
(9) A race car accelerates LHHI'(}I“I'HIV from 18.5 m/s In 2.4/ St conds. Determine the acc l@ratit
of the car and the distance travelled. |
(a) 11.5m/s’,89.8m (b) 11.4 m/s’, 80m (C) 11.2m/s" /9.8 m (d) 21.2 m/s", 11 m

netres, The acceleration ol gravity

(10) A feather is dropped on the moon from a height of 1.40
on the meon Is 1.67m/s’. Determine the time for the feather to (@

|t the surface of the moon.

(a) 1.295 (b)1.29s (C)1.405 (d)2.05

response LO uH;t_l‘li_‘hllh‘ﬂl. It rocket:

(11) Rocket powered sleds are used to test the human |
powered sled Is accelerated to a speed of 444m/s In 1.83 saconds,
distance that the sled travels,

then what 1§ the acceleration

(a) 406 m (b) SOGm (C) 606 m (d) 607 m

v of 35.4m.
(12) A bl\m accelarates unlformlv from rest to a speed of 7.10 m/§ over a distance of 35

ﬁsmmlne tha accalaratlon of the blke

(a) mz /st (m 0.512 m/s’ (€) 0.612 m/s* (d) 0.712 m/s"

o the
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